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PAIR OF LINEAR EQUATIONS IN TWO
VARIABLES

Topic 1 Graphical Solution Of Linear Equations In

Two Variables Consistency Inconsistency Very

Short Answer Type Questions



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. Find whether the pair of linear equations y =
O and y= — 5 has no solution, unique

solution or infinitely many solutions.

o Watch Video Solution

2. If am = bl, then find whether the pair of
linear equations ax + by =c and
[x + my = n has no solution, unique solution

or infinitely many solutions.

° Watch Video Solution



https://dl.doubtnut.com/l/_x5j5RkvIfsi8
https://dl.doubtnut.com/l/_PtDggRTJRih7

3. If ad # bc, then find whether the pair of
linear equations ar +by =p and
cx + dy = q has no solution, unique solution

or infinitely many solutions.

o Watch Video Solution

4., Two lines are given to be parallel. The
equation of one of the lines is 4z 4 3y = 14,

then find the equation of the second line.

o Watch Video Solution



https://dl.doubtnut.com/l/_PtDggRTJRih7
https://dl.doubtnut.com/l/_9QTaAuXbZxua
https://dl.doubtnut.com/l/_Oh0HK0nSDB5Y

Topic 1 Graphical Solution Of Linear Equations In

Two Variables Consistency Inconsistency Short

Answer Type Questions

1.Solve forxand y: 2z +y = 6, 2z — y = 2.

o Watch Video Solution

2. Find whether the lines represented by
2r +y =3 and 4x + 2y = 6 are parallel,

coincident or intesecting.


https://dl.doubtnut.com/l/_Oh0HK0nSDB5Y
https://dl.doubtnut.com/l/_tnpE3BzPnIev
https://dl.doubtnut.com/l/_NBd0ttGxx8tk

° Watch Video Solution

3. Find whether the following pair of linear
equations is consistent or inconsistent :
3r + 2y =8

6x — 4y =9

o Watch Video Solution

4. |s the system of linear equations

2r +3y—9=0 and 4r+6y—18=0


https://dl.doubtnut.com/l/_NBd0ttGxx8tk
https://dl.doubtnut.com/l/_HfnszDE1oxlV
https://dl.doubtnut.com/l/_5OStfaiy7DBu

consistent ? Justify your answer.

o Watch Video Solution

5. Given the linear equation 3z + 4y = 9.
Write another linear equation in these two
variables such that the geometrical
representation of the pair so formed is :

(1) intersecting lines

(ii) coincident lines.

° Watch Video Solution



https://dl.doubtnut.com/l/_5OStfaiy7DBu
https://dl.doubtnut.com/l/_QRZ7bGGv3KUI
https://dl.doubtnut.com/l/_dohsk9wmVBY0

6. For what value of p does the pair of linear
equations given below has unique solution ?

dr +py+ 8 =0and 2z 4+ 2y + 2 = 0.

° Watch Video Solution

7. For what value of k, the pair of linear
equations kx — 4y = 3, 6z — 12y = 9 has an

infinite number of solutions ?

° Watch Video Solution



https://dl.doubtnut.com/l/_dohsk9wmVBY0
https://dl.doubtnut.com/l/_41snuYiqOXOV
https://dl.doubtnut.com/l/_mb27mrT4ckUn

8. For what value of k,2x + 3y =4 and
(k+ 2)x + 6y = 3k + 2 will have infinitely

many solutions ?

° Watch Video Solution

9. For what value of 'k, the system of
equations kx + 3y = 1, 122 + ky = 2 has no

solution.

° Watch Video Solution



https://dl.doubtnut.com/l/_mb27mrT4ckUn
https://dl.doubtnut.com/l/_LaWqcbmbLl8v

Topic 1 Graphical Solution Of Linear Equations In

Two Variables Consistency Inconsistency Long

Answer Type Questions |

1. Solve the pair of equations graphically :

dr —y =4and 3z + 2y = 14

o Watch Video Solution

2. Determine the values of m and n so that the
following system of linear equations have

infinite number of solutions :


https://dl.doubtnut.com/l/_C0k5toi262q5
https://dl.doubtnut.com/l/_TfNwf8pTg48w

2m -1z +3y—5=0

3z+(n—1y—2=0

° Watch Video Solution

3. Find the values of a and S for which the
following pair of linear equations has infinite

number of solutions

2 + 3y = 7, 2az + (a + B)y = 28.

o Watch Video Solution



https://dl.doubtnut.com/l/_TfNwf8pTg48w
https://dl.doubtnut.com/l/_5phDufpU0bnw

4. Represent the following pair of linear
equations graphically and hence comment on
the condition of consistency of this pair.

x — oy = 6,2x — 10y = 12.

o Watch Video Solution

5. For what value of p will the following system

of equations have no solution ?

2p—z+(p—1Dy=2p+1,y+3z—-1=0

| & I


https://dl.doubtnut.com/l/_Nqzzkfx24cok
https://dl.doubtnut.com/l/_bG0fMPGQIyyf

| ¥ Watch Video Solution |

6. Find the value of k for which the following

pair of equations has no solution :

r+2y=3,(k—1)+(k+1)y=(k+2).

o Watch Video Solution

Topic 1 Graphical Solution Of Linear Equations In

Two Variables Consistency Inconsistency Long

Answer Type Questions li



https://dl.doubtnut.com/l/_bG0fMPGQIyyf
https://dl.doubtnut.com/l/_5bXF784zcUoD

1. Solve the equations graphically
2r —y = 2

de —y =4

o Watch Video Solution

2. For Uttarakhand flood victims two sections
A and B of class X contributed Rs. 1,500. If the
contribution of X - A was Rs. 100 less than that
of X - B, find graphically the amounts

contributed by both the sections.

| & I


https://dl.doubtnut.com/l/_SwrM3bwZk6dK
https://dl.doubtnut.com/l/_wSgSKgysjJfb

| ¥ Watch Video Solution |

3. Determine graphically whether the following
pair of linear equations :

3r —y=17

2z + 5y + 1 = O has:

(1) a unique solution

(i1) infinitely many solutions or

(iii) no solution.

o View Text Solution



https://dl.doubtnut.com/l/_wSgSKgysjJfb
https://dl.doubtnut.com/l/_MvOBG1ZhOuHh

4. Draw the graphs of the pair of linear
equations:z + 2y =95and2z — 3y = —4
Also find the points where the lines meet the x

- axis.

o Watch Video Solution

5. Solve graphically the pair of linear equations
3r —4y+3=0 and 3z + 4y — 21 = 0.

Find the coordinate of the vertices of


https://dl.doubtnut.com/l/_F2pS0eGo8GDQ
https://dl.doubtnut.com/l/_v8dlY7mSCGXA

triangular region formed by these lines and x-

axis. Also calculate the area of this triangle.

° Watch Video Solution

6. Solve the following pair of linear equations
graphically :

2¢ + 3y = 12andz — y = L.

Find the area of the region bounded by the
two lines representing he above equations

and Y - axis.

o View Text Solution



https://dl.doubtnut.com/l/_v8dlY7mSCGXA
https://dl.doubtnut.com/l/_iJ1f18vemX3V

7. Solve the following pair of linear equations
graphically :

x+ 3y =6,2x — 3y = 12

Also shade the region bounded by the line

2z — 3y = 12 and both the co-ordinate axes.

° Watch Video Solution

8. Solve the following pair of linear equations
graphically :

r—y=1


https://dl.doubtnut.com/l/_iJ1f18vemX3V
https://dl.doubtnut.com/l/_XQDGazxiDkwN
https://dl.doubtnut.com/l/_kBg0blIRQ0Q3

2z + y = 8.
Also find the co-ordinates of the points where
the lines represented by the above equation

intersect Y - axis.

° Watch Video Solution

9. Draw the graphs of the following equations

2¢ —y=1,z + 2y = 13

Find the solution of the equations from the


https://dl.doubtnut.com/l/_kBg0blIRQ0Q3
https://dl.doubtnut.com/l/_uCPKDvAyECOF

graph and shade the triangular region formed

by the lines and the Y - axis.

° Watch Video Solution

10. Amit bought two pencils and three
chocolates for Rs. 11 and Sumeet bought one
pencil and two chocolates for Rs. 7. Represent
this situation in the form of a pair of linear
equations. Find the price of one pencil and

that of one chocolate graphically.

° Watch Video Solution



https://dl.doubtnut.com/l/_uCPKDvAyECOF
https://dl.doubtnut.com/l/_UHaTiauW5TGC

11. Solve the following pair of equations
graphically :

2r +3y=12,z —y—1=0.

Shade the region between the two lines
represented by the above equations and the X

- axis.

° View Text Solution

12. Solve the following pair of linear equations

graphically :


https://dl.doubtnut.com/l/_UHaTiauW5TGC
https://dl.doubtnut.com/l/_0fRRImcruHOr
https://dl.doubtnut.com/l/_hqpdaaLtpM9y

2r +3y =122y — 1 ==
determine the co-ordinates of the vertices of
the triangle formed by the lines represented

by these equations with the x-axis.

o View Text Solution

13. Shayam went to a stationary shop and
purchased 2 pens and 3 pencils for Rs. 9. His
friend Rahim saw the new variety of pens and
pencils with Shyam and he also bought 4 pens

and 6 pencils of the same kind for Rs. 18.


https://dl.doubtnut.com/l/_hqpdaaLtpM9y
https://dl.doubtnut.com/l/_vMtbcsubiijj

(i) from the linear equation.
(i) Represent this situation graphically.

(iii) Which person have been more beneficial ?

o View Text Solution

Topic 2 Algebraic Methods To Solve Pair Of Linear

Equations And Equations Reducible To Linear

Equations Short Answer Type Questions

1. Solve the following pair of linear equations

by cross multiplication method :


https://dl.doubtnut.com/l/_vMtbcsubiijj
https://dl.doubtnut.com/l/_VI8ghzLjoRuV

x + 2y = 2

x—3y=1717

° Watch Video Solution

2. Solve the following pair of linear equations
by substitution method :
3r +2y—7=0

dr +y—6=0

o Watch Video Solution



https://dl.doubtnut.com/l/_VI8ghzLjoRuV
https://dl.doubtnut.com/l/_E0Nci2SuHviQ

3. In the figure given below, ABCD is a

rectangle. Find the values of x and y.

D.-..—..-...._. l'a-r'_-.h':

: t
K-y 1%

v | = '

° Watch Video Solution

4.Solve : 99z + 101y = 499

101z 4 99y = 501

l o Watch Video Solution


https://dl.doubtnut.com/l/_RLU4TsA7LQck
https://dl.doubtnut.com/l/_PdOieJaxliwS

5. Solve the following system of linear
equations by substitution method :
20 —y = 2

x+ 3y =15

° Watch Video Solution

Topic 2 Algebraic Methods To Solve Pair Of Linear

Equations And Equations Reducible To Linear

Equations Long Answer Type Questions |



https://dl.doubtnut.com/l/_PdOieJaxliwS
https://dl.doubtnut.com/l/_Fyv9OG29Khy5

1. A two digit number is four times the sum of
the digits. It is also equal to 3 times the

product of digits. Find the number.

o Watch Video Solution

2. The numerator of a fraction is 3 less than its
denominator. If 2 is added to both the
numerator and the denominator, then the
sum of the new fraction and original fraction

Is 20 Find the original number.

| & |


https://dl.doubtnut.com/l/_7Y0R5RSsjTYb
https://dl.doubtnut.com/l/_eLjvRPzTzs20

| ¥ Watch Video Solution |

3. Sum of the ages of a father and the son is
40 years. If father's age is three times that of

his son, then find their respective ages.

o Watch Video Solution

4. Solve using cross multiplication method :
br +4y—4=10

x— 12y —20=20

o Watch Video Solution



https://dl.doubtnut.com/l/_eLjvRPzTzs20
https://dl.doubtnut.com/l/_7GRgmTYnKM3d
https://dl.doubtnut.com/l/_Th2h7rOnD8aE

5. A part of monthly hostel charge is fixed and
the remaining depends on the number of days
one has taken food in the mess. When Swati
takes food for 20 days, she has to pay Rs.
3,000 as hostel charges whereas Mansi who
takes food for 25 days Rs. 3,500 as hostel
charges. Find the fixed charges and the cost of

food per day.

o Watch Video Solution



https://dl.doubtnut.com/l/_Th2h7rOnD8aE
https://dl.doubtnut.com/l/_XbNRC4t8FUnv
https://dl.doubtnut.com/l/_61Dhacsq1a8c

6. Solve for xand y :

x 2y
T AR |
2+3

Yy
_ < _3
T3

o Watch Video Solution

7.2 men and 7 boys can do a piece of work in 4
days. It is done by 4 men and 4 boys in 3 days.
How long would it take for one man or one

boy to do it ?

° Watch Video Solution



https://dl.doubtnut.com/l/_61Dhacsq1a8c
https://dl.doubtnut.com/l/_CN0Eyl9wn0xr

8. In the figure below ABCDE is a pentagon
with BE|[CD and BC|/DE. BC is
perpendicular to CD. If the perimeter of ABCDE

is 21 cm, find the values of x and y.

cf/\

w
// X
/- \-E
T ——— 5 (T it
X=¥
FI
v _ =
e s+ v— D

° Watch Video Solution



https://dl.doubtnut.com/l/_WhyYE3rG0xNC
https://dl.doubtnut.com/l/_VD0ZzlnOdLCe

9. Solve for xand y :

z+1 y—1 x—1 y+1
5 + 3 = 9, 3 + 5 = 8

o Watch Video Solution

10. Solve for x and y :
6 3

-1 y—2
5 1
— = 2,where z # 1,y # 2.
z—1 Yy — 2

1

o Watch Video Solution



https://dl.doubtnut.com/l/_VD0ZzlnOdLCe
https://dl.doubtnut.com/l/_x94KX3cRoH18

11. Solve the following pair of equations for x

and y:

a’ b? a’b  ba

— — — =0, + =a + b,
£ Yy L Yy

x # 0,y # 0.

o Watch Video Solution

12. Solve for xand y :

a—+b
2

ar + by =

3z + dy = 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_NGBXBoJXyf2C
https://dl.doubtnut.com/l/_LmhZargYlK6Q

13. Solve the following pair of equations for x
andy:

6 8
de + — = 15,6 — — = 14

Y Y

and also find the value of p such that

Yy = pr — 2.

° Watch Video Solution

14. Find whether the following pair of linear

equations has a unique solution. If yes, find


https://dl.doubtnut.com/l/_LmhZargYlK6Q
https://dl.doubtnut.com/l/_pWwUrS71rfpf
https://dl.doubtnut.com/l/_UUnYTaIToHVg

the solution :

7x — 4y = 49, bx — 6y = 57

° Watch Video Solution

Topic 2 Algebraic Methods To Solve Pair Of Linear

Equations And Equations Reducible To Linear

Equations Long Answer Type Questions li

1. 4 chairs and 3 tables cost Rs. 2100 and 5
chairs and 2 tables cost Rs. 1750. Find the cost

of one chair and one table separately.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_UUnYTaIToHVg
https://dl.doubtnut.com/l/_qIVke7ojP2no

2. Solve the following of equations :

2 3 4 9

o Watch Video Solution

3. Solve for xand y :
2c —y+3=0

3r —oy+1=20

o Watch Video Solution



https://dl.doubtnut.com/l/_qIVke7ojP2no
https://dl.doubtnut.com/l/_vnRDTiRUmxZx
https://dl.doubtnut.com/l/_3wLUR3SE02yO

4.The ratio of incomes of two persons is 11: 7
and the ratio of their expenditures is 9 : 5. If
each of them manages to save Rs. 400 per

month, find their monthly incomes.

o Watch Video Solution

5. A and B are two points 150 km apart on a
highway. Two cars start from A and B at the
same time. If they move in the same direction

they meet in 15 hours. But if they move in the


https://dl.doubtnut.com/l/_VSTJGccIN5OJ
https://dl.doubtnut.com/l/_KtdI0JqlsSS4

opposite direction, they meet in 1 hour. Find

their speeds.

° Watch Video Solution

6. If 2 is subracted from the numerator and 1is
added to the denominator, a fraction becomes
2 but when 4 is added to the numerator and

3 is subracted from the denominator, it

becomes 7 Find the fraction.

° Watch Video Solution



https://dl.doubtnut.com/l/_KtdI0JqlsSS4
https://dl.doubtnut.com/l/_4Q9vNmQkLYhq
https://dl.doubtnut.com/l/_NuAQn14mD40K

7. If a bag containing red and white balls, half
the number of white balls is equal to one -
third the number of red balls. Thrice the total
number of balls by 6. How many balls of each

colour does the bag contain ?

O Watch Video Solution

8. A two digit number is obtained by either
multiplying the sum of digits by 8 and then
subtracting 5 or by multiplying the difference

of digits by 16 and adding 3. Find the number.


https://dl.doubtnut.com/l/_NuAQn14mD40K
https://dl.doubtnut.com/l/_Um11EGWCvL5B

° Watch Video Solution

9. The area of a rectangle gets reduced by 9
square units, if its length is reduced by 5 units
and the breadth is increased by 3 units. The
area is increased by 67 square units if length is
increased by 3 units and breadth is increased

by 2 units. Find the perimeter of the rectangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_Um11EGWCvL5B
https://dl.doubtnut.com/l/_QvFjS2nnygV4

10. Solve for x and y :

2(3z — y) = bzy, 2(z + 3y) = 5zy,

° Watch Video Solution

11. The present age of the father is twice the
sum of the ages of his 2 children. After 20
years, his age will be equal to the sum of the

ages of his children. Find the age of the father.

o Watch Video Solution



https://dl.doubtnut.com/l/_3AX7FuMrr1Z3
https://dl.doubtnut.com/l/_Ac6f5motkBZP
https://dl.doubtnut.com/l/_5EAVZna7YZIs

12. A fraction becomes 11 if 2 is added to
both numerator and denominator. If 3 s

added to both numerator and denominator it

becomes E Find the fraction.

o Watch Video Solution

13. A motor boat can travel 30 km upstream
and 28 km downstream in 7 hours. It can travel
21 km upstream and return in 5 hours. Find
the speed of the boat in still water and the

speed of the stream.


https://dl.doubtnut.com/l/_5EAVZna7YZIs
https://dl.doubtnut.com/l/_LEWOD5TFsUuc

° Watch Video Solution

14. A boat covers 32 km upstream and 36 km
downstream in 7 hours. Also, it covers 40 km
upstream and 48 km downstream in 9 hours.
Find the speed of the boat in still water and

that of the stream.

° Watch Video Solution



https://dl.doubtnut.com/l/_LEWOD5TFsUuc
https://dl.doubtnut.com/l/_3HutpO37sjFm

15. For what values of a and b does the
following pair of linear equations have infinite
number of solution ?

2¢ +3y=T,a(x +y) — bz —y) =3a+b—2

o Watch Video Solution

16. Atul is sitting on a boat which goes 30 km
upstream and 44 km downstream in 10 hours.
In 13 hours, he can go 40 km upstream and 55

km down - stream.


https://dl.doubtnut.com/l/_w8yCloEdxFkF
https://dl.doubtnut.com/l/_crw8QiyMnEaa

(i) From the linear equation

(i) Determine the speed of the stream and
that of the boat in still water.

(i) Which mathematical concept is used in the

above problem.

o Watch Video Solution

Textbook Corner Exercise 3 1

1. Aftab tells his daughter "Seven years ago |

was seven times as old were then. Also, three


https://dl.doubtnut.com/l/_crw8QiyMnEaa
https://dl.doubtnut.com/l/_InIOfiLIcCBO

years from now, | shall be three times as old as
you will be". Represent the situation

algebraically and graphically.

° Watch Video Solution

2. The coach of a cricket team buys 3 bats and
6 balls for Rs. 3900. Later, she buys another
bat and 3 more balls of the same kind for Rs.
1300. Represent this situation algebraically

and geometrically.

° Watch Video Solution



https://dl.doubtnut.com/l/_InIOfiLIcCBO
https://dl.doubtnut.com/l/_ydWl25W0nP2L

3. The cost of 2 kg of apples and 1 kg of grapes
on a day was found to be Rs. 160. After a
month, the cost of 4 kg of apples and 2 kg of
grapes is Rs. 300. Represent the situation

algebraically.

o Watch Video Solution

Textbook Corner Exercise 3 2


https://dl.doubtnut.com/l/_ydWl25W0nP2L
https://dl.doubtnut.com/l/_leMrdai3NL1x

1. Form the pair of linear equations in the
following problems, and find their solutions.

10 students of Class X took part in a
Mathematics quiz. If the number of girls is 4
more than the number of boys, find the
number of boys and girls who took part in the

quiz.

o Watch Video Solution



https://dl.doubtnut.com/l/_sqgDDqnl0Kk5

2. Form the pair of linear equations in the
following problems, and find their solutions .

5 pencils and 7 pens cost Rs. 50, whereas 7
pencils 5 pens together cost Rs. 46. Find the

cost of one pencil and that of one pen.

o Watch Video Solution

. . ap b c
3. On comparing the ratios —1, L and =

as 2 C

’

find out whether the lines representing the

following pairs of linear equations intersect at


https://dl.doubtnut.com/l/_f8h4enb7w9wS
https://dl.doubtnut.com/l/_gPbOLL6556vD

a point, are parallel or coincident :
Sr —4dy+ 8 =10

t+6y—9=20

° Watch Video Solution

: . a; b c
4. On comparing the ratios —1, L and 2,
az " b C2
find out whether the lines representing the
following pairs of linear equations intersect at
a point, are parallel or coincident :

9z +3y+12 =0

18z + 6y +24 =0

| |


https://dl.doubtnut.com/l/_gPbOLL6556vD
https://dl.doubtnut.com/l/_iagiesgtQmWs

& Wwatch Video Solution I

: . a1 b c
5. On comparing the ratios —1, - and —1,
az by Ca
find out whether the lines representing the
following pairs of linear equations intersect at
a point, are parallel or coincident :

6z — 3y + 10 = 0

2c —y+9=0

o Watch Video Solution



https://dl.doubtnut.com/l/_iagiesgtQmWs
https://dl.doubtnut.com/l/_gh1Bu9NCbEd2

: . a; b c
6. On comparing the ratios —1, L and =+
az " b C2

find out whether the following pair of linear

equations are consistent, or inconsistent.

3 +2y=>52x —3y=7

o Watch Video Solution

. . ap b c
7. On comparing the ratios —1, - and =
as bz Co

find out whether the following pair of linear

equations are consistent, or inconsistent.

2¢ — 3y = 8,4 — 6y =9

| N I


https://dl.doubtnut.com/l/_2p6ZLvmfohUE
https://dl.doubtnut.com/l/_2FphaC2bzvbc

| ¥ Watch Video Solution |

: . a; b c
8. On comparing the ratios —1, 2 and 2

as by Co

find out whether the following pair of linear

equations are consistent, or inconsistent.

5 +5 =179 10y = 14
533 gy—ax Yy =

o Watch Video Solution

: . a; b c
9. On comparing the ratios —1, b—l and =

as 2 Co

find out whether the following pair of linear


https://dl.doubtnut.com/l/_2FphaC2bzvbc
https://dl.doubtnut.com/l/_EddWc5L3utKx
https://dl.doubtnut.com/l/_9XdYTxCuSvYr

equations are consistent, or inconsistent.

b5 — 3y = 11, — 10x — 10z + 6y = — 22

° Watch Video Solution

: . a; b c
10. On comparing the ratios 1. L and 2,
as " b C2

find out whether the following pair of linear
equations are consistent, or inconsistent.

4
§w+2y:8,2x+3y:12

o Watch Video Solution



https://dl.doubtnut.com/l/_9XdYTxCuSvYr
https://dl.doubtnut.com/l/_9ssdNBJQxvsd

11. Which of the following pairs of linear
equations are consistent/ inconsistent? If
consistent, obtain the solution graphically.

x+y=2>5,2x + 2y = 10

o Watch Video Solution

12. Which of the following pairs of linear
equations are consistent/inconsistent ? If
consistent, obtain the solution graphically :

r—y=28,3r —3y = 16

| & I


https://dl.doubtnut.com/l/_nGytMFBV3Pm5
https://dl.doubtnut.com/l/_jAZxRjZrNpsx

| ¥ Watch Video Solution |

13. Which of the following pairs of linear
equations are consistent/inconsistent ? If
consistent, obtain the solution graphically:

2 +y—6=0,4¢c —2y—4 =20

o Watch Video Solution

14. Which of the following pairs of linear

equations are consistent/inconsistent ? If


https://dl.doubtnut.com/l/_jAZxRjZrNpsx
https://dl.doubtnut.com/l/_y9klkzm4inyx
https://dl.doubtnut.com/l/_lbpcdB6Iv4TQ

consistent, obtain the solution graphically :

2t —2y—2=0,4c —4y—5=0

° Watch Video Solution

15. Half the perimeter of a rectangular garden,
whose length is 4 m more than its width, is 36

m. Find the dimensions of the garden.

° Watch Video Solution



https://dl.doubtnut.com/l/_lbpcdB6Iv4TQ
https://dl.doubtnut.com/l/_HnOZ58Ahkquy

16. Given the linear equation 2z + 3y — 8 = 0
write another linear equation in two variables
such that the geometrical representation of
the pair so formed is :

intersecting lines

o Watch Video Solution

17. Given the linear equation 2z + 3y — 8 = 0
write another linear equation in two variables

such that the geometrical representation of


https://dl.doubtnut.com/l/_Yp4Ytq8SrsCq
https://dl.doubtnut.com/l/_Y2hR4ZHXZ7fk

the pair so formed is :

parallel lines

° Watch Video Solution

18. Given the linear equation 2x + 3y — 8 =0
write another linear equation in two variables
such that the geometrical representation of
the pair so formed is :

coincident lines

° Watch Video Solution



https://dl.doubtnut.com/l/_Y2hR4ZHXZ7fk
https://dl.doubtnut.com/l/_5gr3lzaxG07j
https://dl.doubtnut.com/l/_l2VNK4DkIrjy

19. Draw the graphs of the equations
x—y+1=0 and 3z + 2y — 12 = 0.

Determine the co-ordinates of the vertices of
the triangle formed by these lines and the x-

axis and shade the triangular region.

° Watch Video Solution

Textbook Corner Exercise 3 3

1. Solve the following pair of linear equations

by the substitution method.


https://dl.doubtnut.com/l/_l2VNK4DkIrjy
https://dl.doubtnut.com/l/_KI3wbTzN1up2

x+y=14

r—y=4

° Watch Video Solution

2. Solve the following pair of linear equations
by the substitution method.

s—t=3

t

+§:6

hd
3

o Watch Video Solution



https://dl.doubtnut.com/l/_KI3wbTzN1up2
https://dl.doubtnut.com/l/_03Ujs7ULJHUM

3. Solve the pair of linear equations by the
substitution method :
d3r —y =3

9 — 3y =9

° Watch Video Solution

4. Solve the pair of linear equations by the
substitution method :
0.2 + 0.3y = 1.3

0.4x + 0.5y = 2.3

| & I


https://dl.doubtnut.com/l/_cdUw0RtXCZEb
https://dl.doubtnut.com/l/_xRLCJG7WJEDj

| ¥ Watch Video Solution |

5. Solve the pair of linear equations by the
substitution method :

V2z +4/3y=0

V3T — /8y =0

° Watch Video Solution

6. Solve the following pair of linear equations

by the substitution method.

3x oY T Y 13
_ _ _9 =z 4 7 _ 2
R 3T 27 6



https://dl.doubtnut.com/l/_xRLCJG7WJEDj
https://dl.doubtnut.com/l/_HrEfWcGtBrjk
https://dl.doubtnut.com/l/_AiU2LY9yFK5T

° Watch Video Solution

7. Solve 2 +3y =11 and 2z —4y= — 24
and hence find the value of 'm' for which

y = mz + 3.

° Watch Video Solution

8. From the pair of linear equations for the
following problems and find their solution by

substitution method.


https://dl.doubtnut.com/l/_AiU2LY9yFK5T
https://dl.doubtnut.com/l/_K2pE5b6FLdaa
https://dl.doubtnut.com/l/_vKIGXMVRgHz2

The difference between two numbers is 26,
and one number is three times the other. Find

them.

° Watch Video Solution

9. From the pair of linear equations for the
following problems and find their solution by
substitution method.

The larger of two supplementary angles

exceeds the smaller by 18 degrees. Find them.

° Watch Video Solution



https://dl.doubtnut.com/l/_vKIGXMVRgHz2
https://dl.doubtnut.com/l/_iieQK6QoEgIM

10. From the pair of linear equations for the
following problems and find their solution by
substitution method.

The coach ofa a cricket team buys 7 bats and 6
balls for Rs. 3800. Later, she buys 3 bats and 5
balls for Rs. 1750. Find the cost of each bat and

each ball.

o Watch Video Solution



https://dl.doubtnut.com/l/_iieQK6QoEgIM
https://dl.doubtnut.com/l/_7INP8qcnNa9A

11. From the pair of linear equations for the
following problems and find their solution by
substitution method.

The taxi charge in a city consist of a fixed
charge together with the charge for the
distance covered. For a distance of 10 km, the
charge paid is Rs. 105 and for a journey of 15
km, the charge paid is Rs. 155. What are the
fixed charges and the charge per km ? How
much does a person have to pay for travelling

a distance of 25 km ?

° Watch Video Solution



https://dl.doubtnut.com/l/_UaZW9seFXPWM

12. Form the pair of linear equations for the
following problems and find their solution by
substitution method.

: 9 .
A fraction becomes BT if 2 is added to both
the numerator and the denominator. If 3 is
added to both the numerator and the

5
denominator it becomes E Find the fraction.

o Watch Video Solution



https://dl.doubtnut.com/l/_UaZW9seFXPWM
https://dl.doubtnut.com/l/_vgc3pCa7shwQ

13. Form the pair of linear equations for the
following problems and find their solution by
substitution method.

Five years hence, the age of Jacob will be three
times that of his son. Five years ago, Jacob's
age was seven times that of his son. What are

their present ages ?

o Watch Video Solution

Textbook Corner Exercise 3 4


https://dl.doubtnut.com/l/_anLjv6VEhtBc
https://dl.doubtnut.com/l/_QX3yxozWMjkP

1. Solve the following pair of linear equations
by the elimination method and the
substitution method.

x+y=>5and2x — 3y =4

o Watch Video Solution

2. Solve the following pair of linear equations
by the elimination method and the

substitution method.

3z + 4y = 10and 2z — 2y = 2

o Watch Video Solution



https://dl.doubtnut.com/l/_QX3yxozWMjkP
https://dl.doubtnut.com/l/_0s7RYZ14ZARg

3. Solve the following pair of linear equations
by the elimination method and the

substitution method.

3r —dy=7—3and9x =2y + 7

° Watch Video Solution

4. Solve the following pair of linear equations

by the elimination method and the


https://dl.doubtnut.com/l/_0s7RYZ14ZARg
https://dl.doubtnut.com/l/_7ZR5qiPCYrBn
https://dl.doubtnut.com/l/_JtEpjMqq2TLE

substitution method.

x 2y y _
2—|—3— land z 3—3

o Watch Video Solution

5. Form the pair of linear equations in the
following problems, and find their solutions (if
they exist) by the elimination method :

If we add 1 to the numerator and subtract 1
from the denominator, a fraction reduces to 1.

1

It becomes 3 if we only add 1 to the

denominator. What is the fraction ?

| = |


https://dl.doubtnut.com/l/_JtEpjMqq2TLE
https://dl.doubtnut.com/l/_bJplQtH4sgwB

I &9 Watch Video Solution I

6. Form the pair of linear equations in the
following problems, and find their solutions (if
they exist) by the elimination method :

Five years ago, Nuri was thrice as old as Sonu.
Ten years later, Nuri will be twice as old as

Sonu. How old are Nuri and Sonu ?

o Watch Video Solution



https://dl.doubtnut.com/l/_bJplQtH4sgwB
https://dl.doubtnut.com/l/_BDq4kJzHW7mw

7. Form the pair of linear equations in the
following problems, and find their solutions (if
they exist) by the elimination method :

The sum of the digits of a two - digit number
is 9. Also, nine times this numbers is twice the
number obtained by reversing the order of the

digits. Find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_zhKQL2HWUyrb

8. Form the pair of linear equations in the
following problems, and find their solutions (if
they exist) by the elimination method :

Meena went to a bank to withdraw Rs. 2,000.
She asked the cashier to give her Rs. 50 and
Rs. 100 notes only. Meena got 25 notes in all.
Find how many notes of Rs. 50 and Rs. 100 she

received.

o Watch Video Solution



https://dl.doubtnut.com/l/_hYen3Nq7Y9TW

9. Form the pair of linear equations in the
following problems, and find their solutions (if
they exist) by the elimination method :

A lending library has a fixed charge for the first
three days and an additional charge for each
day thereafter. Saritha paid Rs. 27 for a book
kept for seven days, while Susy paid Rs. 21 for
the book she kept for five days. Find the fixed

charge and the charge for each extra day.

° Watch Video Solution



https://dl.doubtnut.com/l/_wHRsT0LzqZab

Textbook Corner Exercise 3 5

1. Which of the followings pairs of linear
equations has unique solution, no solution, or
infinitely many solutions. In case there is a
unique solution, find it by using cross
multiplication method.

r—3y—3=0

3r — 9y —2 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_E8IiMZmfl7Lm

2. Which of the followings pairs of linear
equations has unique solution, no solution, or
infinitely many solutions. In case there is a
unique solution, find it by using cross
multiplication method.

2c +y=25

3x + 2y =8

o Watch Video Solution



https://dl.doubtnut.com/l/_W6jS1UiQZ2TU

3. Which of the followings pairs of linear
equations has unique solution, no solution, or
infinitely many solutions. In case there is a
unique solution, find it by using cross
multiplication method.

3x — oy = 20

6x — 10y = 40

o Watch Video Solution



https://dl.doubtnut.com/l/_GJ3hWGetgieo

4. Which of the followings pairs of linear
equations has unique solution, no solution, or
infinitely many solutions. In case there is a
unique solution, find it by using cross
multiplication method.

x—3y—7=0

3r —3y—15=0

o Watch Video Solution



https://dl.doubtnut.com/l/_QmeTUopJA6du

5. For which values of a and b does the
following pair of linear equations have an
infinite number of solutions ?

2 +3y =7

(a—bz+(a+by=3a+b—2

o Watch Video Solution

6. For which value of k will the following pair of

linear equations have no solution ?


https://dl.doubtnut.com/l/_T8nLaRXUAdh0
https://dl.doubtnut.com/l/_aSuyEKm9acPR

3z +y=1

(26 — Dz + (k— 1y =2k +1

° Watch Video Solution

7. Solve the following pair of linear equations

by the substitution and cross - multiplication

methods :
8r + 5y =9
3r + 2y =14

° Watch Video Solution



https://dl.doubtnut.com/l/_aSuyEKm9acPR
https://dl.doubtnut.com/l/_RkMG5YShm5yz
https://dl.doubtnut.com/l/_RMQeIFWEybFW

8. Form the pair of linear equations in the
following problems and find their solutions (if
they exist) by any algebraic method :

A part of monthly hostel charges is fixed and
the remaining depends on the number of days
one has taken food in the mess. When a
student A takes food for 20 days she has to
pay Rs. 1,000 as hostel charges whereas a
student B, who takes food for 26 days, pays Rs.
1,180 hostel charges. Find the fixed charges

and the cost of food per day.

O Watch Video Solution



https://dl.doubtnut.com/l/_RMQeIFWEybFW

9. Form the pair of linear equations in the
following problems and find their solutions (if
they exist) by any algebraic method :

A fraction becomes 3 when 1 is subtracted
from the numerator and it becomes — when 8

4

is added to its denominator. Find the fraction.

o Watch Video Solution

10. Form the pair of linaer equations in the

following problems and find their solutions (if


https://dl.doubtnut.com/l/_RMQeIFWEybFW
https://dl.doubtnut.com/l/_2E0FcNhJVpGx
https://dl.doubtnut.com/l/_wDVpqxh73ELa

they exist) by any algebraic method :

Yash scored 40 marks in a test, getting 3
marks for each right answer and losing 1 mark
for each wrong answer. Had 4 marks been
awarded for each correct answer and 2 marks
been deducted for each incorrect answer, then
Yash would have scored 50 marks. How many

questions were there in the test ?

o Watch Video Solution



https://dl.doubtnut.com/l/_wDVpqxh73ELa

11. Form the pair of linear equations in the
following problems and find their solutions (if
they exist) by any algebraic method :

Places A and B are 100 km apart on a highway.
One car starts from A and another from B at
same time. If the cars travel in the same
direction at different speeds, they meet in 5
hours. If they travel towards each other, they
meet in 1 hour. What are the speeds of the two

cars ?

o Watch Video Solution



https://dl.doubtnut.com/l/_pCOdKeB8Duj2

12. Form the pair of linaer equations in the
following problems and find their solutions (if
they exist) by any algebraic method :

The area of a rectangle gets reduced by 9
square units, if its length is reduced by 5 units
and breadth is increased by 3 units. If we
increase the length by 3 units and the breadth
by 2 units, the area increases by 67 square

units. Find the dimensions of the rectangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_fWGxPtJgR2a9

Textbook Corner Exercise 3 6

1. Solve the following pairs of equations by

reducing them to a pair of linear equations :

1+1_2
2x 3y
1+1_13
3z 2y 6

° Watch Video Solution

2. Solve the following pair of linear equations

by the substitution method.


https://dl.doubtnut.com/l/_wm89cMvBGXp1
https://dl.doubtnut.com/l/_Yy5FoSdp1Y2P

x+y=14

r—y=4

° Watch Video Solution

3. Solve the following pairs of equations by

reducing them to a pair of linear equations :

4

— +3y=14
Wi

5 4y = 23
z U7

o Watch Video Solution



https://dl.doubtnut.com/l/_Yy5FoSdp1Y2P
https://dl.doubtnut.com/l/_XDafiiA79wvL

4. Solve the following pairs of equations by

reducing them to a pair of linear equations :

5 N I
x—1 y—2
6 3

x—1 Yy — 2

2

o Watch Video Solution

5. Solve the following pairs of equations by

reducing them to a pair of linear equations :

Trx — 2
R
LY
8 7
ST s
LY

| s |


https://dl.doubtnut.com/l/_eUD4NNBpaOdQ
https://dl.doubtnut.com/l/_xEhCYbtZsGoV

| ¥ Watch Video Solution ]

6. Solve the following pairs of equations by
reducing them to a pair of linear equations :
6z 4+ 3y = 6zy

2z + 4y = dzy

o Watch Video Solution

7. Solve the following pairs of equations by

reducing them to a pair of linear equations :


https://dl.doubtnut.com/l/_xEhCYbtZsGoV
https://dl.doubtnut.com/l/_nWzsw02otkBd
https://dl.doubtnut.com/l/_1oEK8v0hGK9g

10 2

+ — 4
r+y T-y
15 5

_ — _9
Tty Ty

° Watch Video Solution

8. Solve the following pairs of equations by

reducing them to a pair of linear equations :

1 1

3az+y+ 3r — vy
1 1 —1

3
4

23z +y) 2B3z-—-vy) 8

o Watch Video Solution



https://dl.doubtnut.com/l/_1oEK8v0hGK9g
https://dl.doubtnut.com/l/_yunNjJWkt6jg

9. Formulate the following problems as a pair
of equations, and hence find their solutions :

Ritu can row downstream 20 km in 2 hours,
and upstream 4 km in 2 hours. Find her speed
of rowing in still water and the speed of the

current.

o Watch Video Solution

10. Formulate the following problems as a pair

of equations, and hence find their solutions :


https://dl.doubtnut.com/l/_fMZVTSYXuxO4
https://dl.doubtnut.com/l/_FL2EikQBazB4

2 women and 5 men can together finish an
cmbroidcry work in 4 days, while 3 women and
6 men can finish it in 3 days. Find the time
taken by 1 woman alone to finish the work, and

also that taken by 1 man alone.

o Watch Video Solution

11. Formulate the following problems as a pair
of equations, and hence find their solutions :
Roohi travels 300 km to her home partly by

train and partly by bus. She takes 4 hours if


https://dl.doubtnut.com/l/_FL2EikQBazB4
https://dl.doubtnut.com/l/_dLxeDiFtJhVI

she travels 60 km by train and the remaining
by bus. If she travels 100 km by train and the
remaining by bus, she takes 10 minutes longer.
Find the speed of the train and the bus

separately.

o Watch Video Solution

Textbook Corner Exercise 3 7

1. The ages of two friends Anil and Biju differ

by 3 years. Anil's father Dharam is twice as old


https://dl.doubtnut.com/l/_dLxeDiFtJhVI
https://dl.doubtnut.com/l/_RklNX3hRoI8w

as Ani and Biju is twice as old as his sister
Cathy. The ages of Cathy and Dharam differ by

30 years. Find the ages of Ani and Biju.

° Watch Video Solution

2. One says, "Give me a hundred, friend ! | shall
then become twice as rich as you". The other
replies, "If you give me ten, | shall be six times
as rich as you". Tell me what is the amount of

their (respective) capital ?

° Watch Video Solution



https://dl.doubtnut.com/l/_RklNX3hRoI8w
https://dl.doubtnut.com/l/_tPuePeFWwBgx

3. A train covered a certain distance at a
uniform speed. If the train would have been 10
km/h faster, it would have taken 2 hours less
than the scheduled time. And, if the train were
slower by 10 km/h , it would have taken 3
hours more than the scheduled time. Find the

distance covered by the train.

o Watch Video Solution



https://dl.doubtnut.com/l/_tPuePeFWwBgx
https://dl.doubtnut.com/l/_1gyVolr2ze9V

4.The students of a class are made to stand in
rows. If 3 students are extra in a row, there
would be 1 row less. If 3 students are less in a
row, there would be 2 rows more. Find the

numer of students in the class.

o Watch Video Solution

5.1n a AABC, /C = 3/B = 2(LA + /B).

Find the three angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_FsYJEAUHPLGS
https://dl.doubtnut.com/l/_xxnLRTSnMxGR

6. Draw the graphs of the equations
br —y =5 and 3x — y = 3. Determine the
coordinates of the vertices of the triangle

formed by these lines and y-axis.

o Watch Video Solution

7.Solve the following pair of linear equations :
pr+qy=p—gq

qgr —py=p+4q

o Watch Video Solution



https://dl.doubtnut.com/l/_xxnLRTSnMxGR
https://dl.doubtnut.com/l/_1agTQH7R9Vow
https://dl.doubtnut.com/l/_L4t1H0WJ5Jl2

8. Solve the following pair of linear equations :
ax + by =c

bx +ay=1+4c

o Watch Video Solution

9. Solve the following pair of linear equations :

T Y,
a

b
az + by = a® + b?

o Watch Video Solution



https://dl.doubtnut.com/l/_L4t1H0WJ5Jl2
https://dl.doubtnut.com/l/_V9T3mgk0SBBT
https://dl.doubtnut.com/l/_RjYvpA9dq1nE

10. Solve the following pair of linear equations

(@ — bz + (a + b)y = a® — 2ab — b’

(@ +b)(z +y) =a® + b

o Watch Video Solution

11. Solve the following pair of linear equations

152z — 378y = — 74

378z 4+ 152y = — 604


https://dl.doubtnut.com/l/_RjYvpA9dq1nE
https://dl.doubtnut.com/l/_FOgWOx0zmBkG
https://dl.doubtnut.com/l/_f8P3AcjLTRR8

° Watch Video Solution

12. ABCD is a cyclic quadrilateral. Find the

angle A of the cyclic quadrilateral.

° Watch Video Solution



https://dl.doubtnut.com/l/_f8P3AcjLTRR8
https://dl.doubtnut.com/l/_k1DYceDMDHBc

